Chemistry II Redox Quiz Name

SHOW ALL STEPS

Balance the following equation, which takes place in acidic
solution, using the ion-electron method. ’

MnO,  + 5,0, > 5,07 + Mn®
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Chemistry II Redox Quiz Name

SHOW ALL STEPS

Balance the following equation, which takes place
solution, using the ion-electron method.

Mno,~ + S,0, > S0 + Mn*
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Chemistry II Redox Quiz Name,

SHOW ALL STEPS

Balance the following equation, which takes place in basic
solution, using the ion-electron method.

Br, - Br- + Bro,-
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SHOW ALl STEPS

Balance the following equation, which takes place in basic
solution, using the ion-electron method.

Br., - Br- + BroO,~
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Chemistry II Chapter 5 Test Name

SHOW All, WORK

1. Write a balanced ionic and net ionic equation for the
following: '

BaCl,agy +  AL.(SO.)saqy —  BaSO,., +  AlClycag

2. For each of the following, state whether their aqueous
solutions would be expected to be acidic or basic.
(a) N0,
(b) cCaoO
(c) SeO2
(d) Cs,0

3. What acid is formed by the reaction of P,0,, with water?



4. Write molecular, ionic and net ionic equations for the
reaction that would occur between potassium chloride and lead
{II) nitrate.

5. The concentration of Cl1l- is 0.160 M in a solution of FeCl,.
What is the molar concentration of FeCl,?

6. How many milliliters of 0.300 M NaOH are required to react
with 500.0 mL of 0.170 M H,PO, to vield Na,PO,?



7. How many grams of AgCl will be formed if 25.0 mL of 0.050 M
HCl is added to 100.0 mL of 0.50 M AgNO,?

8. What is the equivalent mass of MnSO, when it is oxidized to
produce MnO,?

9. How many mL of water must be added to 85.0 mL of 1.00 N H,PO,
to give a solution that is 0.650 N H,P0,? Assume that the
volumes are additive.



10. Balance the following reaction by the 1on~e1ectron method (in
acidic solution).

As,0, + NO,7 - H,AsO, + N.0,



11. Balance the following reaction by the ion-electron method
(basic solution).

cio,” + NJH, -~ NO,< o+ C1T



12. Balance the following reaction by the oxidation-number method.

H + 10, + S0 .- I, + 802> + HO
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Chemistry II - Chapter 5 Test Name_ | %!

SHOW ALL WORK i

i Write a balanced ionic and net ionic equation for the
following:

32 BaCloagqy +  AL.(SO4)saqy ~ 2 BaSO,., + LALCL,aqg
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2. For each of the following, state whether their aqueous
solutions would be expected to be acidic or basic.

( a ) N203 /) C/L(,QJ—L

(b) ca0 2.,

(¢) se0, Aoy

(d) cs,0 /3.,

3. What acid is formed by the reaction of P,0,, with water?
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Write molecular, ionic and net ionic equations for the
reaction that would occur between potassium chloride and lead
(II) nitrate.
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The concentration of Cl- is 0.160 M in a solution of FeCl,.
What is the molar concentration of FeCl,?
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How many milliliters of 0.300 M NaOH are required to react
with 500.0 mL of 0.170 M H,PO, to yield Na,PO,?
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7. How many grams of AgCl will be formed if 25.0 mL of 0.050 M
HC1 is added to 100.0 mL of 0.50 M AgNO,?
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8. What is the equivalent mass of MnSO, when it is oxidized to
produce MnO,? - W
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9. How many mL of water must be added to 85.0 mL of 1.00 N H,PO,
to give a solution that is 0.650 N H,PO,? Assume that the
volumes are additive.
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10. Balance the following reaction by the ion-electron method (in

acidic solution).
e

As;,0, + NO,- - HAsO, + NO,
SHaO+ A0y —> N A0, + 4T+ de™
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Balance the following reaction by the ion-electron method

11.
(basic solution).
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12. Balance the following reaction by the oxidation-number method.
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Chemistry II Units of Concentration Name
Quiz

SHOW ALIL WORK

1. How many grams of solute are required to prepare 1.5 liters of
a 2.6 N solution of H,PO, (assume that all hydrogens are
replaceable).

2. Determine the mole fractions of both substances in a solution

containing 45.6 g of water and 65.2 g of glycerin, C,H,(OH),.



Chemistry II Units of Concentration Name 773@4&«;

Quiz
SHOW ALI._WORK
1. How many grams of solute are required to prepare 1.5 liters of
a 2.6 N solution of H,PO, (assume that all hydrogens are
replaceable). Y
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2. Determine the mole fractions of both substances in a solution

containing 45.6 g of water and 65.2 g of glycerin, C,H,(OH),.
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Chemistry II Units of Concentration Name

3.

Test

SHOW ALL WORK

How many grams of a 5.0% by weight NaCl solution are necessary
to yield 3.2 g NacCl?

Calculate the mass of anhydrous HCl1 in 5.00 cm® of
concentrated hydrochloric acid (density = 1.19 g/cm®),
containing 37.23% HC1l by weight.

What is the molality of a solution which contains 20.0 g of
cane sugar, C, H,,0,,, dissolved in 125 g of water?



4.

What is the molar concentration of a solution containing 16.0
grams of CH,OH in 200.0 mL of solution?

Calculate the normality of a 46.5 mL solution of H,80, which
is able to react completely with 56.7 mL of 1.34 N Al(OH),
solution.

An aqueocus solution having a mass of 123 grams contains 23.6
grams of NaCl and 17.5 grams of KNO,. Calculate the mole
fraction of EACH component.
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Chemistry II Units of Concentration Name )th}”/
Test

SHOW ALI. WORK

I How many grams of a 5.0% by weight NaCl solution are necessary
to yield 3.2 g NacCl?
$.0% .93
f{og - < / V.
K= 644
2. Calculate the mass of anhydrous HCl1 in 5.00 cm® of
concentrated hydrochloric acid (density = 1.19 g/cm?®),

containing 37.23% HCl by weight.
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3 What is the molality of a solution which contains 20.0 g of
cane sugar, C,,H,.,0,,, dissolved in 125 g of water?

C.. = rad. {3
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4. What is the molar concentration of a solution containing 16.0
grams of CH,OH in 200.0 mL of solution?

Chott= 18,045/ /64y
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5. Calculate the normality of a 46.5 mL solution of H,SO, which

is able to react completely with 56.7 mL of 1.34 N Al1(OH),
solution.
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6. An aqueous solution having a mass of 123 grams contains 23.6

grams of NaCl and 17.5 grams of KNO,. Calculate the mole
fraction of EACH component.
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